

Progress Estimate N 4		Contract ID Prime Contractor	220715-D01 H.R. Quadri Contra	actors, LLC			2 Original Contract Amoun 22 Net Change Order Amoun Current Contract Amount	nt \$0.00	
Approval Date								By User	
November 2, 2022			ne Project Office Level by	snells1					
November 2, 2022		F	Reviewed and Appro	oved (and	should be considered Dra	ft) at the Re	esident Engineer Level by	grahac1	
November 3, 2022				Reviewed	and Approved at the Cen	tral Office C	Controllers Office Level by	ramses1	
Original Completio	n Date	Current Cor	ompletion Date Actual Completion Date			% of Current Contract Amount Compl			
April 28, 2023		April 2	28, 2023				93.85%		
	Contract	t Informational Da	tes		Milestones				
Date Description	Original	Completion Date	Current Complet	ion Date	No Milestones Exist for (	Contract			
Acceptance Date									
Awarded Date	August 3	8, 2022	August 3, 2022						
Letting Date	July 15, 2	2022	July 15, 2022						
Notice to Proceed Date	Septemb	per 6, 2022	September 6, 202	2					
Open to Traffic Date									
Work Began Date									

Contract Total Pay For Estimate No. 4				
	This Estimate	Previous	To Date	
220715-D01				
Total Posted Items Pay	v \$141,272.45	\$507,080.75	\$648,353.20	
Gross Item Adjustment	s (\$3,208.00)	(\$2,774.25)	(\$5,982.25)	
Incentive	\$50,000.00	\$0.00	\$50,000.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustm	nents \$0.00	\$0.00	\$0.00	
		<mark>\$504,306.50</mark>	\$692,370.95	
Contract Total Payable This Estimate:	\$188,064.45			

Contract Total Payable This Estimate: Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0046	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$10.000	238	\$2,380.00
	0050	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	SQYD	\$100.000	385.42	\$38,542.00
	0060	6081010	CONCRETE CURB RAMP	SQYD	\$125.000	78.1	\$9,762.50
	0070	6081012	TRUNCATED DOMES	SQFT	\$50.000	60	\$3,000.00
	0080	6083006	6 IN. CONCRETE MEDIAN STRIP	SQYD	\$100.000	42.7	\$4,270.00
	0090	6085008	PAVED APPROACH, 8 IN.	SQYD	\$100.000	75.8	\$7,580.00
	0100	6091052	CURB AND GUTTER TYPE B	LF	\$50.000	60	\$3,000.00
	0130	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	SQYD	\$1.000	2,331	\$2,331.00
	0140	6161005	CONSTRUCTION SIGNS	SQFT	\$7.000	631	\$4,417.00
	0170	6161030	TYPE III MOVEABLE BARRICADE	EA	\$175.000	23	\$4,025.00
	0200	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	LF	\$22.000	352	\$7,744.00
	0250	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$22.500	114	\$2,565.00
	0260	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$325.000	2	\$650.00
	0280	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	EA	\$1,250.000	4	\$5,000.00
	0310	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$2.250	1,767	\$3,975.75
	0320	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	LF	\$6.000	707	\$4,242.00



Progress	Estimate M 4		Contract ID 220715-D01 Pay Period Start   Prime Contractor H.R. Quadri Contractors, LLC Pay Period End		1, 2022 Net Ch		ount \$0.00
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0046			PAINT, TYPE L BEADS				
	0400	9029901	MISC.POT HOLING FOR UTILITY FACILITIES	LS	\$1.000	1	\$1.00
	0410	9029902	MISC.VIDEO DETECTION SYSTEM	EA	\$34,550.000	1	\$34,550.00
	0420	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	\$3,900.000	0.2	\$780.00
	0430	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$30.000	28	\$840.00
	0440	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	EA	\$490.000	2	\$980.00
	0450	9035004A	SH-FLAT SHEET	SQFT	\$35.400	18	\$637.20
Project JCI	00046 - To	tal					\$141,272.45
Overall - To	otal						\$141,272.45

#### Contract Adjustments This Estimate

Adj Type	Entered By	Comments	Time Units	Rate	Amount
OTHRIncentive	snells1	This adjustment is for payment of the \$5,000.00 / day incentive as outlined in JSP E, part. 3.0 in the contract. The incentive was based off of certain sections of the roadway being open to traffic before November 17th, 2022 with a maximum incentive of \$50,000. The project was open to traffic on October 28th, 2022 allowing for the maximum incentive to be paid out. Snells1			\$50,000.00

### **Overall - Total**

These amounts are listed in the Incentive, Disincentive, Liquidated Damages or Other Contract Adjustments

\$50,000.00

#### Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0046	0030	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-238	\$10.00	(\$2,380.00
	0030	D TYPE 5 AGGREGATE FOR Material BASE (4 IN. THICK)			This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	238	\$10.00	\$2,380.00
	0050	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	Overrun			-7.5	\$100.00	(\$750.00)
	0050	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	Material			-2,338.8	\$100.00	(\$233,880.00)
	0050	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	2,338.8	\$100.00	\$233,880.00
	0060	CONCRETE CURB RAMP	Material			-78.1	\$125.00	(\$9,762.50)
	0060	CONCRETE CURB RAMP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user snells1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	78.1	\$125.00	\$9,762.50



Progre	ss Esti 2	mate Number I	Contract ID Prime Contra	220715- I <b>ctor</b> H.R. Qu		Pay Period Start October 16, 2022 C ors, LLC Pay Period End November 1, 2022 N C	let Change O		\$0.00
Project lumber	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
CD0046	0070	TRUNC	ATED DOMES	Material			-60	\$50.00	(\$3,000.00
	0070	TRUNC	ATED DOMES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user snells1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	60	\$50.00	\$3,000.00
	0080	6 IN. CONC	RETE MEDIAN STRIP	Material			-42.7	\$100.00	(\$4,270.00
	0080	6 IN. CONCF	RETE MEDIAN STRIP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user snells1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	42.7	\$100.00	\$4,270.00
	0090	PAVED APF	PROACH, 8 IN.	Overrun			-11.7	\$100.00	(\$1,170.00
	0090	PAVED APF	PROACH, 8 IN.	Material			-171.5	\$100.00	(\$17,150.00
	0090	PAVED APF	PROACH, 8 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user snells1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	171.5	\$100.00	\$17,150.00
	0100	CURB AND GU	TTER TYPE B	Material			-140	\$50.00	(\$7,000.00
	0100	CURB AND GU	TTER TYPE B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user snells1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	140	\$50.00	\$7,000.00
	0140	CONSTRU	CTION SIGNS	Overrun			-9	\$7.00	(\$63.00
	0170	TYPE	III MOVEABLE BARRICADE	Overrun			-7	\$175.00	(\$1,225.00
	0250	THE	PREFORMED RMOPLASTIC MARKING, 24 IN. WHITE	Material			-114	\$22.50	(\$2,565.00
	0250	THE	PREFORMED RMOPLASTIC MARKING, 24 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user snells1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	114	\$22.50	\$2,565.00
	0260	THE PAVEME	PREFORMED RMOPLASTIC NT MARKING, IGHT ARROW	Material			-2	\$325.00	(\$650.00
	0260	THE PAVEME	PREFORMED RMOPLASTIC NT MARKING, IGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user snells1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	2	\$325.00	\$650.00
	0270	PAVEMENT N	PPLIED TAPE //ARKING, R/R BING MARKER	Material			-2	\$525.00	(\$1,050.00
	0270	PAVEMENT N	PPLIED TAPE MARKING, R/R SING MARKER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user snells1 overridding Payment Estimate Exception 17 on the current Payment Estimate.	2	\$525.00	\$1,050.00
	0280	THE PAVEMENT M	PREFORMED RMOPLASTIC //ARKING, R/R SING MARKER	Material			-4	\$1,250.00	(\$5,000.00



Progre	ss Esti 4	mate Number	Contract ID Prime Contra	220715- ctor H.R. Qu		Pay Period Start October 16, 2022 C ors, LLC Pay Period End November 1, 2022 N C	let Change O	rder Amount	
Project Number	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
ICD0046	0280	PAVEMENT N	PREFORMED RMOPLASTIC MARKING, R/R SING MARKER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user snells1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	4	\$1,250.00	\$5,000.00
	0310	WATERBORN	W HIGH BUILD IE PAVEMENT PAINT, TYPE L BEADS	Material			-1,767	\$2.25	(\$3,975.75
	0310	WATERBORN	W HIGH BUILD IE PAVEMENT PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user snells1 overridding Payment Estimate Exception 19 on the current Payment Estimate.	1,767	\$2.25	\$3,975.75
	0320	WATERBORN	E HIGH BUILD IE PAVEMENT PAINT, TYPE L BEADS	Material			-707	\$6.00	(\$4,242.00
	0320	WATERBORN	E HIGH BUILD IE PAVEMENT PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user snells1 overridding Payment Estimate Exception 21 on the current Payment Estimate.	707	\$6.00	\$4,242.00
	0400		MISC.	Material			-1	\$1.00	(\$1.00
	0400		MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0018) due to user snells1 overridding Payment Estimate Exception 23 on the current Payment Estimate.	1	\$1.00	\$1.00
	0410		MISC.	Material			-1	\$34,550.00	(\$34,550.00
	0410		MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0019) due to user snells1 overridding Payment Estimate Exception 24 on the current Payment Estimate.	1	\$34,550.00	\$34,550.00
	0430	2.5 IN. PSST	POST - 12 GA.	Material			-28	\$30.00	(\$840.00
	0430	2.5 IN. PSST	POST - 12 GA.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0020) due to user snells1 overridding Payment Estimate Exception 25 on the current Payment Estimate.	28	\$30.00	\$840.00
	0450	SH	I-FLAT SHEET	Material			-18	\$35.40	(\$637.20
	0450	SF	I-FLAT SHEET	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0021) due to user snells1 overridding Payment Estimate Exception 26 on the current Payment Estimate.	18	\$35.40	\$637.20
otal									(\$3,208.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JCD0046	FAF-5-2(38)	Pavement replacement	5	LACLEDE	from Commercial St to	o Pierce St in Lebanon	
Totals by J	Job Numbers						
JCD0046					This Estimate	Previous	To Date
	Posted It	em Pay			\$141,272.45	\$507,080.75	\$648,353.20
	Gross Ite	m Adjustment	s		(\$3,208.00)	(\$2,774.25)	(\$5,982.25)
				Dave	\$138,064.45	\$E04 200 E0	
		(	Gross Ite	em Pay	\$130,004.45	\$504,306.50	\$642,370.95
	Incentive		Gross Ite	em Pay	\$50,000.00	\$0.00	\$642,370.95 \$50,000.00
			Gross Ite	am Pay			
	Incentive Disincent		Gross Ite	em Pay	\$50,000.00	\$0.00	\$50,000.00

# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 3040504, Project Item Line Number 0030, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Inspectors working with District Materials to resolve Exceptions. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 5021310, Project Item Line Number 0050, Material Set 502131096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 5021310, Project Item Line Number 0050, Material Set 502131096, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 5021310, Project Item Line Number 0050, Material Set 502131096, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 5021310, Project Item Line Number 0050, Material Set 502131096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 5021310, Project Item Line Number 0050, Material Set 502131096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6081010, Project Item Line Number 0060, Material Set 608101096, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6081012, Project Item Line Number 0070, Material Set 608101296, Material 1067TRDO - Truncated Domes for ADA, Acceptance Action Generic 1067TRDO is insufficient.	snells1 This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6083006, Project Item Line Number 0080, Material Set 608300696, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6085008, Project Item Line Number 0090, Material Set 608500896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6085008, Project Item Line Number 0090, Material Set 608500896, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6085008, Project Item Line Number 0090, Material Set 608500896, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6085008, Project Item Line Number 0090, Material Set 608500896, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6091052, Project Item Line Number 0100, Material Set 609105296, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	snells1 This is a concrete item which has been completed. Inspectors will satisfy materials exception this estimate period.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6200015, Project Item Line Number 0250, Material Set 620001596, Material 1048PMPFWH - Performed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	snells1 This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6200021, Project Item Line Number 0260, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	snells1 This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet.	snells1	Overridden



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
	snells1		
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6200031, Project Item Line Number 0270, Material Set 6200031, Material 1048PMCAWHXX - Cold App Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMCAWHXX is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6200033, Project Item Line Number 0280, Material Set 620003396, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6205901A, Project Item Line Number 0310, Material Set 6205901A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6205901A, Project Item Line Number 0310, Material Set 6205901A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6205902A, Project Item Line Number 0320, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 6205902A, Project Item Line Number 0320, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 9029901, Project Item Line Number 0400, Material Set 9029901, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Working with District Materials to resolve exception. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 9029902, Project Item Line Number 0410, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 9031280, Project Item Line Number 0430, Material Set 903128096, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0046, Item 9035004A, Project Item Line Number 0450, Material Set 9035004A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	This work was completed at the end of the estimate period and the certs have not been received from the contractor as yet.	snells1	Overridden
Estimate Exception Type: Item Overrun: Contract 220715-D01, Contract Project JCD0046, Project Item Line Number 0050, Contract Line Item Number 0050, Item 5021310, Minor Item.	snells1 A Change Order is being drafted to resolve exception. snells1	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220715-D01, Contract Project JCD0046, Project Item Line Number 0090, Contract Line Item Number 0090, Item 6085008, Minor Item.	A Change Order is being drafted to resolve exception. snells1	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220715-D01, Contract Project JCD0046, Project Item Line Number 0140, Contract Line Item Number 0140, Item 6161005, Minor Item.	A Change Order is being drafted to resolve exception. snells1	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220715-D01, Contract Project JCD0046, Project Item Line Number 0170, Contract Line Item Number 0170, Item 6161030, Minor Item.	A Change Order is being drafted to resolve exception. snells1	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220715-D01, Contract Project JCD0046, Project Item Line Number 0290, Contract Line Item Number 0290, Item 6205301B, Minor Item.	A Change Order is being drafted to resolve exception. snells1	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220715-D01, Contract Project JCD0046, Project Item Line Number 0300, Contract Line Item Number 0300, Item 6205303B, Minor Item.	A Change Order is being drafted to resolve exception. snells1	snells1	Acknowledged

### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note. Fosted Qt	lantities a	and Value	es are b	ased on Re	eport Generated date and can differ from the posted amo	ount at the	e time the	Estimate w	as Gene	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220715-D01	JCD0046	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	-	\$154,800.00	\$154,800.00
		0001	0020	2071000	LINEAR GRADING CLASS 1	1.40	0.00	1.40	STA	1.40	\$1,000.00	\$1,400.00
		0001	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	238.00	0.00	238.00	SQYD	238.00	\$10.00	\$2,380.00
		0001	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	2,379.00	0.00	2,379.00	SQYD	0.00	\$12.00	\$0.00
		0001	0050	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	2,331.30	0.00	2,331.30	SQYD	2,338.80	\$100.00	\$233,880.00
		0001	0060	6081010	CONCRETE CURB RAMP	78.10	0.00	78.10	SQYD	78.10	\$125.00	\$9,762.50
		0001	0070	6081012	TRUNCATED DOMES	60.00	0.00	60.00	SQFT	60.00	\$50.00	\$3,000.00
		0001	0080	6083006	6 IN. CONCRETE MEDIAN STRIP	42.70	0.00	42.70	SQYD	42.70	\$100.00	\$4,270.00
		0001	0090	6085008	PAVED APPROACH, 8 IN.	159.80	0.00	159.80	SQYD	171.50	\$100.00	\$17,150.00
		0001	0100	6091052	CURB AND GUTTER TYPE B	140.00	0.00	140.00	LF	140.00	\$50.00	\$7,000.00
		0001	0110	6122008	IMPACT ATTENUATOR 40 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	0.00	\$2,850.00	\$0.00
		0001	0120	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	2.00	\$1,250.00	\$2,500.00
		0001	0130	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	2,331.00	0.00	2,331.00	SQYD	2,331.00	\$1.00	\$2,331.00
	0001	0140	6161005	CONSTRUCTION SIGNS	865.00	0.00	865.00	SQFT	874.00	\$7.00	\$6,118.00	
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$100.00	\$200.00
	0001	0160	6161025	CHANNELIZER (TRIM LINE)	47.00	0.00	47.00	EA	47.00	\$15.00	\$705.00	
		0001	0170	6161030	TYPE III MOVEABLE BARRICADE	20.00	0.00	20.00	EA	27.00	\$175.00	\$4,725.00
		0001	0180	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0190	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	5.00	0.00	5.00	EA	5.00	\$3,500.00	\$17,500.00
		0001	0200	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	352.00	0.00	352.00	LF	352.00	\$22.00	\$7,744.00
		0001	0210	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	725.00	0.00	725.00	LF	725.00	\$28.00	\$20,300.00
		0001	0220	6174000A	TEMPORARY TRAFFIC BARRIER HEIGHT TRANSITION	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0230	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	1,077.00	0.00	1,077.00	LF	1,077.00	\$10.00	\$10,770.00
		0001 0240 6181000	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$66,200.00	\$66,200.00	
		0001	0250	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	114.00	0.00	114.00	LF	114.00	\$22.50	\$2,565.00
		0001	0260	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	2.00	\$325.00	\$650.00
		0001	0270	6200031	COLD APPLIED TAPE PAVEMENT MARKING, R/R CROSSING MARKER	6.00	0.00	6.00	EA	2.00	\$525.00	\$1,050.00
		0001	0280	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	4.00	0.00	4.00	EA	4.00	\$1,250.00	\$5,000.00
		0001	0290	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	890.00	0.00	890.00	LF	1,579.00	\$2.25	\$3,552.75
		0001	0300	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	3,072.00	0.00	3,072.00	LF	3,616.00	\$2.25	\$8,136.00
		0001	0310	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,767.00	0.00	1,767.00	LF	1,767.00	\$2.25	\$3,975.75
		0001	0320	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	926.00	0.00	926.00	LF	707.00	\$6.00	\$4,242.00
		0001	0330	6207001	PAVEMENT MARKING REMOVAL	1,609.00	0.00	1,609.00	LF	1,112.00	\$2.75	\$3,058.00
		0001	0340	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	7.00	0.00	7.00	EA	2.00	\$300.00	\$600.00
		0001	0350	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00
		0001	0360	8031000A	TURF TYPE TALL FESCUE SODDING	110.00	0.00	110.00	SQYD	0.00	\$10.00	\$0.00
		0001	0370	8061007A	CURB INLET CHECK	9.00	0.00	9.00	EA	0.00	\$50.00	\$0.00
		0001	0380	8061016	SEDIMENT REMOVAL	11.00	0.00	11.00	CUYD	0.00	\$1.00	\$0.00
		0001	0390	8061019	SILT FENCE	145.00	0.00	145.00	LF	0.00	\$2.50	\$0.00
		0001	0400	9029901	MISC.POT HOLING FOR UTILITY FACILITIES	1.00	0.00	1.00	LS	1.00	\$1.00	\$1.00
		0030	0410	9029902	MISC.VIDEO DETECTION SYSTEM	1.00	0.00	1.00	EA	1.00	\$34,550.00	\$34,550.00
		0040	0420	9031010	CONCRETE FOOTINGS, EMBEDDED	0.20	0.00	0.20	CUYD	0.20	\$3,900.00	\$780.00
		0040	0430	9031280	2.5 IN. PSST POST - 12 GA.	28.00	0.00	28.00	LF	28.00	\$30.00	\$840.00



## Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Q				l date ar	nd can	differ fro	om the	posted	amou	nt at the	e time th	e Estimate v	vas Gen	erated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
220715-D01	JCD0046	0040	0440	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	2.00	0.00	2.00	EA	2.00	\$490.00	\$980.00	
		0040	0450	9035004A	SH-FLAT SHEET	18.00	0.00	18.00	SQFT	18.00	\$35.40	\$637.20	
	Project JC	CD0046 - To	otal Value	Posted to D	ate as of Report Generated Date							\$648,353.20	
220715-D01 Ove	220715-D01 Overall - Total Value Posted to Date as of Report Generated Date												



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Jumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	3040504	TYPE 5 AGGREGATE FOR BASE	10/17/22	11/2/22	64.00	SQYD	Paved Approach Left.	851+50.19	Lt.			
				11/2/22			Approach, Curb Ramps and Truncated Domes		Rt. / Lt.			
0050	5021210	CONCRETE PAVEMENT (10 IN. NON-REINFORCED	10/19/22	11/2/22 11/2/22	96.00 385.42		Paved Approach Right NB Route 5 - driving lane from RR tracks to just North of	851+53.79 849+36.28	Rt.	852+05.26		
0000	3021310		10/10/22	11/2/22	303.42	5010	Additional Pavement Added due to pavement broken up pavement on Commercial St. 7.5 x 4,5 = 33.759 = 3.75 5 x 5.1666 x 13.1666 = 34.01/9 = 3.78 Total = 7.58 VDS	040130.20		002100.20		
							Pay total = 7.5 SYDS					
0060	6081010	CONCRETE CURB RAMP	10/27/22	11/1/22	39.90	SQYD	Route 5 at the RR tracks STA 851+82.42 to 852+05.37 = 15.0 SY STA 852+14.81 to 852+00 = 24.9 SY Total = 39.9 SY	851+82.42	LT CL	852+00		
			11/1/22	11/2/22	38.20	SQYD	Rte. 5 rt. Sta. 851+84.79 to 852+05.16 rt. = 13.4 Sta. 852+14.99 to 852+52.00 rt. = 24.8 Total = 38.2	851+84079		582+52		
0070	6081012	TRUNCATED DOMES	10/31/22	11/2/22	60.00	SQFT	Train = 0.0.2 NB And SB Route 5 @ RR tracks Domes for Sidewalk around RR tracks. Sta. 852+02.116 852+04.11 = 12 SQFT (LT CL) Sta. 851+98.18 to 852+04.18 = 12 SQFT (RT CL) Sta. 852+98.18 to 852+20.28 = 12 SQFT (CT CL) Sta. 852+18.98 to 852+20.98 = 12 SQFT (CL) Sta. 852+18.98 to 852+20.98 = 12 SQFT (RT CL) Total = 60 SQFT	852+02.11	LT/RT CL	852+20.98		
0080	6083006	6 IN. CONCRETE MEDIAN STRIP	10/26/22	11/1/22	42.70	SQYD	Route 5/Jefferson St. Center of roadway at the RR Tracks. Sta. 851+81.60 to 852+01.60 = 21.3 SY Sta. 852+18.60 to 852+38.60 = 21.4 SY Total = 42.7 SY	851+81.60	LT/RT CL	852+38.60		
0090	6085008	PAVED APPROACH, 8 IN.	10/27/22	11/1/22	6.30	SQYD	Adjustment to Pay entry on 10-14-22 to match Final Field	851 +	RT CL			
				11/1/22	69.50	SQYD	Measurements for Pave Approach. SB Route 5 NB Route 5 @ Parking lot entrance behind Businesses on Commercial St.	53.79 851+50.19	LT CL			
0100	6001052	CURB AND GUTTER TYPE B	10/20/22	11/1/22	27.00	IE	10' 1" x 62' NB Route 5 just N/O RR tracks	852+14.83	IT CI	852+52		
0100	0031032	COND AND COTTEXTITE D	10/20/22	11/1/22	33.00		NB Route 5 just past the RR tracks.	851+79.42		852+05.34		
0130	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEM	11/1/22	11/2/22	2,331.00	SQYD	Plan qty. for project limits	851+15		839+35.41		
0140	6161005	CONSTRUCTION SIGNS		11/1/22	555.00	SQFT	NB and SB Route 5 - also Detour Route for Commercial St. Closure during Stage 2 Construction Used Construction Sign Template.	0+00		0+00		
			11/1/22	11/2/22	76.00	SQFI	Rte. 5 various locations. 2- ROAD WORK AHEAD (Comm. Street Phase 1) X 16 = 32 2- ROAD CLOSED AHEAD (Comm. Street Phase 2) x 16 = 32 2- WORK ZONE (Jefferson Street Phase 1) x 6 = 12 Total = 76					
0170	6161030	TYPE III MOVEABLE BARRICADE	10/26/22	11/1/22	23.00	EA	NB & SB Route 5 @ RR Tracks (Used Log Miles) LM NB Rte. 5 102.140 - Newspaper Parking Jot 4 Each LM NB Rte. 5 102.142 - Farmers Market Parking Lot - 2 Each LM NB Rte. 5 102.142 - Choice health Life Insurance - 1 Each LM NB Rte. 5 102.10 - American Family Insurance Parking Lot - 1 Each LM NB Rte. 5 502.563 - Commercial St. Closure - 4 Each M SB Rte. 5 250.563 - Commercial St. Closure - 4 Each LM SB Rte. 5 250.563 - MFA Parking Lot - 2 Each LM SB Rte. 5 250.564 - MFA Parking Lot - 2 Each LM SB Rte. 5 250.562 - MFA Parking Lot - 2 Each LM SB Rte. 5 250.569 - Parking lot to Businesses on Commercial St 5 Each	849+36.28	LT/RT CL	839+91.62		
		TEMPORARY TRAFFIC BARRIER, CONT. FURN/RE	11/1/22		352.00		Plan for Stage 1			000.04.00		
0250	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	10/28/22	11/1/22	114.00	LF	Stop Bars for new Concrete Pavement on NB and SB   Route 5 near the RR Tracks   Sta. 850+07.39 - LT CL - 22 LF - NB Route 5 through lanes   Sta. 850+15.39 - LT CL - 11 LF - NB Rite. 5 Left Turn Lane   Sta. 851+07.66 - RT CL - 24 LF - SB Route 5 at RR tracks   Sta. 854+000 -   Sta. 849+1000 -   Sta. 849+100 -   Sta. 84	849+36.28	CL	839+91.62		
0260	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	10/28/22	11/1/22	2.00	EA	NB/SB Route 5 -New Concrete Pavement Sta. 848+56 - 1 Each - SB Route 5 Left turn lane to Commercial St. St. 850+91.9 to 850.99.39 - 1 each - NB Route 5 left Turn Lane to Commercial St. Total = 2 Each	848+56				
0280	6200033	PREF THERMO PVMT MARK, R/R XING	10/28/22	11/1/22	4.00	EA	NB/88 Route 5 - New Concrete Pavement at the RR Tracko. Sta. 860+51.66 to 851+01.66 - 2 each (passing/driving lane) Sta. 839+41.62 to 839+91.62 - 2 each (passing/driving lane) Total = 4 each	850+51.66	LT/RT CL	839+91.62		
0310	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT	10/28/22	11/1/22	1,767.00	LF	NB/SB route 5 - Pavement Marking for New Concrete Pavement replacement (4" Vellow paint) Sta. 850+16 30 to 851+15.00 r RT CL - 197 LF Sta. 851+55.00 to 839-35.41 - RT CL - 247 LF Sta. 851+55.10 to 839-35.41 - LT CL - 197 LF Sta. 851+55.10 to 839-35.41 - LT CL - 197 LF Sta. 851+55.10 to 839-35.41 - LT CL - 197 LF Sta. 849+71.00 to 849+73.00 - 46 LF - NB Double elled Sta. 839+35.00 to 841+98.00 - LT/Rt CL - 658 LF - Center Lane Total = 1767.00 LF	849+36.28	LT/RT CL	839+91.62		
0320	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	10/28/22	11/1/22	707.00	LF	Total – 107.50 EV NB/SB Routs 5 Skips and solid lane lines (6" White Paint) Sta. 850+06.39 to 851+15.00 - LT CL - 107 LF Sta. 850+06.39 to 839+41.62 - LT CL - 80 LF - NB Skip Lines Sta. 860+14.28 to 839+35.41 - RT CL - 70 LF - SB skip Lines Sta. 844+97.00 to 849+21.00 - RT CL - 189 LF Sta. 848+1100 to 849+21.00 - RT CL - 110 LF - SB	849+36.28	LT/RT CL	839+91.62		



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
							LT Turn Lane Sta. 839+35.00 to 841+45.00 - 53 LF - SB Skip Lines Sta. 840+13.00 to 844+03.00 - 98 LF - NB Skip Lines Total = 707 LF					
0400	9029901	MISC.	11/1/22	11/2/22	1.00	LS	Plan Qty.					
0410	9029902	MISC.	11/1/22	11/2/22	1.00	EA	Commercial Street.					
0420	9031010	CONCRETE FOOTINGS, EMBEDDED	11/1/22	11/2/22	0.20	CUYD	Route 5/Jefferson St at the RR Tracks Sta. 851+85.60 - CL 0.09 CUYDS Sta. 852+43.60 - CL 0.09 CUYDS Total = 0.18 Total + Rounding = 0.2 CUYDS	851+85.50	CL			
0430	9031280	2.5 IN. PSST POST - 12 GA.	11/1/22	11/2/22	28.00	LF	Route 5/ Jefferson St. @ RR Tracks Sta. 851+85.60 - CL - 14 LF Sta. 852+34.60 - CL - 14 LF Total = 28 LF	851+85.60	CL			
0440	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	11/1/22	11/2/22	2.00	EA	Route 5/Jefferson St. @ the RR Tracks Median Islands Sta. 851+85.60 - CL - 1 Each Sta. 852+34.60 - CL - 1 Each total = 2 Each	851+85.60	CL			
0450	9035004A	SH-FLAT SHEET	11/1/22	11/2/22	18.00	SQFT	Route 5/Jefferson St. @ Median islands center of Roadway at RR Tracks Sta. 851+856.0 - CL - Sign R4-7 - 5 SQFT Sta. 851+856.0 - CL - Sign AVI-1 - 4 SQFT Sta. 852+34.60 - CL - Sign R4-7 - 5 SQFT Sta. 852+34.60 - CL - Sign CM1-1 - 4 SQFT Total = 18 Se. FL	851+85.60	CL			

roject	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
046	0140	October 26, 2022	555	Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		0.250 EB - 0.893 WB	N. Adams Ave.	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19.5
				R11-2 48x30 10.00 ROAD CLOSED		250.592	Sb Route 5 Parking lot Entrance to MFA	1.00	10.00			10.0
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		0.360 WB - 0.857 EB	S. Madison Ave.	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19.5
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.368 EB - 0.849 WB	N.Madison Ave @ W third St.	1.00	15.00	50G - Detour West Commercial St Straight Arrow		15.0
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.397 EB - 0.796 WB	N. Adams Ave. @ W. 3rd St.	1.00	15.00	50H - Detour East Commercial St. Straight Arrow		15.0
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		0.415 EB - 0167 WB	E. Commercial St.	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19.5
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.433 EB - 0.710 WB	N. Adams Ave @ W 2nd St.	1.00	15.00	50H - Detour East Commercial St. Straight Arrow		15.
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.441 WB - 0.702 EB	S. Adams Ave @ E Pierce St.	1.00	15.00	50H - Detour East Commercial St. Straight Arrow		15.
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.458 EB - 0.759 WB	N. Madison Ave @ W Second St.	1.00	15.00	50G - Detour West Commercial St. Straight Arrow		15.
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		0.465 WB - 0.117 EB	W. Commercial St.	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19.
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.476 EB - 0.239 WbB	E Hayes St. @ S. Madison Ave.	1.00	15.00	50F - Detour West Commercial St. Right Arrow		15.
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.511 EB - 0.632 WB	N. Adams Ave. @ W Commercial St.	1.00	15.00	50D - Detour East Commercial St. (Arrow)		15.
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.514 WB - 0.703 EB	S. Madison Ave @ W. Pierce St.	1.00	15.00	50G - Detour West Commercial St. Straight Arrow		15.
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.553 EB - 0.664 WB	N. madison Ave @ Commercial St.	1.00	15.00	50E - Detour West Commercial St. Left Arrow		15.
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.582 Eb - 0.635 WB	S. Madison Ave. @ Commercial St.	1.00	15.00	50F - Detour West Commercial St. Right Arrow		15
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.586 WB - 0.557 EB	S. Adams Ave. @ Commercial St.	1.00	15.00	50C - Detour east Commercial St. Left Arrow		15
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.593 EB - 0.122 WB	W. Hayes St. @ S. Adams Ave.	1.00	15.00	50C - Detour East Commercial St. Left Arrow		15
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.596 EB - 0.220 WB	W. fourth St @ N. Madison Ave.	1.00	15.00	50E - Detour West Commercial St. Left Arrow		15
				SPECIAL 36x60 15.00 DETOUR ASSEMBLY		0.695 EB - 0.121 WB	W. Fourth St.	1.00	15.00	50D Detour East Commercial St. Arrow		15
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		0.786 EB - 0.357 WB	S. Adams Ave @ E Hayes St.	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19
				WO20-2 48x48 16.00 DETOUR AHEAD		101.825	NB Route 5 right Shoulder	1.00	16.00			16
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		101.851	NB Route 5 right Shoulder	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		101.915	NB Route 5 right Shoulder	33.25	1.00	50A Detour Commercial East/West (42x114)	33.25	33
				R11-2 48x30 10.00 ROAD CLOSED		102.124	NB Route 5 Choice Health Life Insurance	1.00	10.00			10
				R11-2 48x30 10.00 ROAD CLOSED		102.142	NB Route 5 Farmers Market Entrance	1.00	10.00			10
				R11-2 48x30 10.00 ROAD CLOSED		102.180	NB Route 5 Parking Lot Entrance	1.00	10.00			10.
				R11-2 48x30 10.00 ROAD CLOSED		102.208	Commercial St @ NB Rte. 5	2.00	10.00			20
				WO20-2 48x48 16.00 DETOUR AHEAD		250.138	SB Route 5 Right Shoulder	1.00	16.00			16.
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		250.187	SB Route 5 Right Shoulder	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		250.238	SB Route 5 Right Shoulder	33.25	1.00	50B Detour Commercial East/west (42x114)	33.25	33
				R11-2 48x30 10.00 ROAD CLOSED		250.536	Commercial St @ SB Route 5	2.00	10.00			20
				R11-2 48x30 10.00 ROAD CLOSED		250.569	SB Route 5 Entrance to Parking Lot	1.00	10.00			10
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		0.294 EB - 0.923 WB	N Madison Ave @ W Fourth St.	19.50	1.00	Commercial St. Closed at Jefferson St. (78x36)	19.50	19.
	0140 - Tota	l				1				1 × 1 · · · ·		55



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
)46	0030	TYPE 5 AGGREGATE FOR BASE	Material		4	Nov 2, 2022	SYSTEM	\$2,380.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					4	Nov 2, 2022	SYSTEM	(\$2,380.00)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0030 -	Total						\$0.00		
	0050	CONCRETE PAVEMENT (10 IN. NON-	Material		2	Oct 3, 2022	SYSTEM	\$121,976.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user geldmk1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
		REINFORCED				2	Oct 3, 2022	SYSTEM	(\$121,976.00)	
					3	Oct 17, 2022	SYSTEM	\$195,338.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					3	Oct 17, 2022	SYSTEM	(\$195,338.00)		
					2022 Estimate Item A	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.				
					4	Nov 2, 2022	SYSTEM	(\$233,880.00)		
				- Total				\$0.00		
			Material - To					\$0.00		
			Overrun	Overrun		Nov 2, 2022	SYSTEM	(\$750.00)		
				Overrun - T	otal			(\$750.00)		
			Overrun - T	otal				(\$750.00)		
	0050 -							(\$750.00)		
	0060	CONCRETE CURB RAMP	Material		4	Nov 2, 2022	SYSTEM	\$9,762.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user snells1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	
					4	Nov 2, 2022	SYSTEM	(\$9,762.50)		
				- Total				\$0.00		
			Material - T	otal				\$0.00		
ł	0060 -							\$0.00		
	0070	TRUNCATED DOMES	Material		4	Nov 2, 2022	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user snells1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	
					4	Nov 2, 2022	SYSTEM	(\$3,000.00)		
				- Total				\$0.00		
	0070 - 1		Material - T					\$0.00		
- 6	0070 -	6 IN. CONCRETE MEDIAN STRIP	Material		4	Nov 2, 2022	SYSTEM	\$0.00 \$4,270.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user snells1 overridding Payment Estimate Everation on the surran Devraced Estimates	
					4	Nov 2, 2022	SYSTEM	(\$4,270.00)	Estimate Exception 9 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0080 -	Total						\$0.00		
	0090	PAVED APPROACH, 8 IN.	Material		3	Oct 17, 2022	SYSTEM	\$9,570.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user snells1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	
					3	Oct 17, 2022	SYSTEM	(\$9,570.00)		
					4	Nov 2, 2022	SYSTEM	\$17,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user snells1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	



Nov 4, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0046	0090	PAVED APPROACH, 8 IN.	Material		4	Nov 2, 2022	SYSTEM	(\$17,150.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	4	Nov 2, 2022	SYSTEM	(\$1,170.00)	
				Overrun - To	otal			(\$1,170.00)	
			Overrun - T	otal				(\$1,170.00)	
	0090 -	Total						(\$1,170.00)	
	0100	CURB AND GUTTER TYPE B	Material		3	Oct 17, 2022	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user snells1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					3	Oct 17, 2022	SYSTEM	(\$4,000.00)	
					4	Nov 2, 2022	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user snells1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$7,000.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0100 -	Total						\$0.00	
	0140	CONSTRUCTION SIGNS	Material		1	Sep 16, 2022	SYSTEM	\$1,701.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Sep 16, 2022	SYSTEM	(\$1,701.00)	
			- Total				\$0.00		
			Material - To	erial - Total				\$0.00	
			Overrun	Overrun	4	Nov 2, 2022	SYSTEM	(\$63.00)	
				Overrun - T	otal			(\$63.00)	
			Overrun - T	otal				(\$63.00)	
	0140 -	Total						(\$63.00)	
	0150	ADVANCED WARNING RAIL SYSTEM	Material		1	Sep 16, 2022	SYSTEM	\$200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Sep 16, 2022	SYSTEM	(\$200.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0150 -	Total						\$0.00	
	0160	CHANNELIZER (TRIM LINE)	Material		1	Sep 16, 2022	SYSTEM	\$705.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user snells1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Sep 16, 2022	SYSTEM	(\$705.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0160 -	Total						\$0.00	
	0170	TYPE III MOVEABLE BARRICADE	Material		1	Sep 16, 2022	SYSTEM	\$700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user snells1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					1	Sep 16, 2022	SYSTEM	(\$700.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	4	Nov 2, 2022	SYSTEM	(\$1,225.00)	
				Overrun - T	otal			(\$1,225.00)	



Nov 4, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0046	0170	TYPE III MOVEABLE BARRICADE	Overrun - T	otal				(\$1,225.00)	
	0170 -	Total						(\$1,225.00)	
	0180	FLASHING ARROW PANEL	Material		1	Sep 16, 2022	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user snells1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					1	Sep 16, 2022	SYSTEM	(\$2,000.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0180 -							\$0.00	
	0190	CMS WITH COMMUNICATION INTERFACE, CONT F	Material		2022 Estimate Item Ac	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user snells1 overridding Payment Estimate Exception 6 on the current Payment Estimate.			
		00111			1	Sep 16, SYSTEM (\$17,500.00) 2022			
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0190 -	Total						\$0.00	
	0210	TEMP. TRAFFIC BARRIER ANCHORED.,	Material		1	Sep 16, 2022	SYSTEM	\$20,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user snells1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		CONT			1	Sep 16, 2022	SYSTEM	(\$20,300.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0210 - Total							\$0.00	
	0220	TEMP. TRAFFIC BARRIER HEIGHT TRANSITION	Material		1	Sep 16, 2022	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user snells1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					1	Sep 16, 2022	SYSTEM	(\$3,000.00)	
					2	Oct 3, 2022	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user geldmk1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					2	Oct 3, 2022	SYSTEM	(\$3,000.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0220 -							\$0.00	
	0250	PREF THERMO PVMT MARK, 24 IN WHIT	Material		4	Nov 2, 2022	SYSTEM	\$2,565.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user snells1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$2,565.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0250 -	Total						\$0.00	
	0260	PREF THERMO PVMT MARK, LT/RT ARROW	Material		4	Nov 2, 2022	SYSTEM	\$650.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user snells1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$650.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0260 -	Total						\$0.00	
	0270	COLD APPLIED TAPE PVMT MARK, R/R XING	Material		3	Oct 17, 2022	SYSTEM	\$1,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user snells1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					3	Oct 17,	SYSTEM	(\$1,050.00)	



Nov 4, 2022

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
JCD0046	0270	COLD APPLIED TAPE PVMT	Material			2022			
		MARK, R/R XING			4	Nov 2, 2022	SYSTEM	\$1,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user snells1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$1,050.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0270 -	Total						\$0.00	
	0280	PREF THERMO PVMT MARK, R/R XING	Material		4	Nov 2, 2022	SYSTEM	\$5,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user snells1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$5,000.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0280 -	Total						\$0.00	
	0290	TEMPORARY REMOVABLE	Overrun	Overrun	3	Oct 17, 2022	SYSTEM	(\$1,550.25)	
		MARKING TAPE 4 IN.,		Overrun - T	otal			(\$1,550.25)	
			Overrun - T	otal				(\$1,550.25)	
	0290 -	Total						(\$1,550.25)	
	0300	TEMPORARY REMOVABLE MARKING TAPE	Material		1	Sep 16, 2022	SYSTEM	\$4,074.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user snells1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					1	Sep 16, 2022	SYSTEM	(\$4,074.75)	
				- Total	1			\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun 3 Oct 17, SYSTEM 2022				(\$1,224.00)	
				Overrun - T	otal			(\$1,224.00)	
			Overrun - T	otal				(\$1,224.00)	
	0300 -	Total						(\$1,224.00)	
	0310	4 IN. YELLOW HIGH BUILD WATERBORNE	Material		4	Nov 2, 2022	SYSTEM	\$3,975.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user snells1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
		PAINT			4	Nov 2, 2022	SYSTEM	(\$3,975.75)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0310 -	Total						\$0.00	
	0320	6 IN. WHITE HIGH BUILD WATERBORNE	Material		4	Nov 2, 2022	SYSTEM	\$4,242.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user snells1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
		PAINT			4	Nov 2, 2022	SYSTEM	(\$4,242.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0320 -	Total						\$0.00	
	0400	MISC.	Material		4	Nov 2, 2022	SYSTEM	\$1.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user snells1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$1.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0400 -	Total						\$0.00	
	0410	MISC.	Material		4	Nov 2,	SYSTEM	\$34,550.00	This adjustment offsets the original system-generated Material Payment



Nov 4, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0046	0410	MISC.	Material			2022			Estimate Item Adjustment (0019) due to user snells1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$34,550.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0410 -	Total						\$0.00	
	0430	2.5 IN. PSST POST - 12 GA.	Material		4	Nov 2, 2022	SYSTEM	\$840.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user snells1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$840.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0430 -	Total						\$0.00	
	0450	SH-FLAT SHEET	Material		4	Nov 2, 2022	SYSTEM	\$637.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user snells1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
					4	Nov 2, 2022	SYSTEM	(\$637.20)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0450 -	Total						\$0.00	
JCD0046	Total							(\$5,982.25)	
Overall - 1	Overall - Total							(\$5,982.25)	